SE65EE Rk Eapiiinsks [17203302)
MR & R ERE L3R5 [203050]

2017/05/20 E? zé%g;ﬁljé %imﬂgi
BTEBUE S FIER
B EE it B8
1) 14 2 3 i 5 6fi 7 8fi
1 B F100m = B&a0) 13.16(+1.6)| it FHE®) 13.25(-1.1)| A FEHE(1) 13.30(+1.6)| T HIE(1) 13.42(+0.5)|k F Z=(1) 13.58(+1.6)|/k £ &IK(1) 13.60(+1.6)3kR T —3(1) 13.66(+1.6)|LLIAE ZR¥E(1) 13.85(+1.0)
14 HEEZ R Ktk 14 RE R HREFEZ
25 BT 100m 25 0O 1215(-0.2)| &+ BE((2) 12.16(-0.2)|B& =HN(2) 1227(-02)| KR FRQ@) 12.28(-0.2)|EE K40(2) 12.62(+1.2)|Hh KHH(2) 12.76(-0.2)| A HZEQ2) 12.84(+0.1)| R4 2(2) 12.85(-0.6)
(A3 R BE RE REE= R [N ]
5355 7 100m AR KEB) 11.82(+2.4)| k% HRO) 11.85(+2.4)| 1T #3H(3) 11.91(+22) |tk 2 HRO) 11.97(+2.4)|$85E FE®) 11.98(+2.2)| &7 BIFEQ) 11.98(+2.4)| 25 #Hul:3) 1200+1.1) |08 #H1E@3) 12.00(+2.4)
R BE HEE— 5T g INEEZ )2 REFE—
558 57200m AR KEQ) 24.14(+0.2) [P #83H(3) 2469(+0.2)|1E2 HR®) 24.86(+0.2)|#&% FEQ) 24.87(+2.6)|HH BEQ) 24.88(+0.2)| BF $E(2) 2519(+2.1)| KK #HE(Q) 25.28(+0.2)| BE #K@Q) 25.32(+2.6)
R HEE— 5T [ R [ RE [N
5555 2400 DR BIE®G) 54.94(FHE $HEEQ) 55.21|88AK RFES) 55.29[;T0 ZE4#H3) 56.39 (Il #WHEE®) 58.21(#3 18HEQ) 58.58| AE EAX(Q) 59.74(#)Il E&®3) 1:00.17
HEE— =5 5T R REFE— =A EFid [N
e 3 9.8 F 300m $#HAR REEG) 2:04.84| KR E&(3) 2:10.83|8RHA {EEHQ) 2:12.86 |18 18E&®Q) 21480 AE EX®G) 2:17.33|NBE f&(3) 2:18.73| & # BAK(2) 2:2445|FK BEE@Q) 2:27.30
figiL RE figiL =5 EiR REFEZ FR K[
14 87 1500m KR BE(1) 4:54.30|TH (1) 4:59.36|F% HEEQ) 5:00.18( Il B5(1) 5:01.70| =8F Z=H(1) 5:02.62|FMA £15(1) 5:05.65|H:E =H(1) 5:11.89 |84 AR 5:11.95
EJ R K REE— BE w5 K[ REFEZ
0 37 1500m EHH #HHQ) 44054|F%F T E(Q2) 4:46.90(7F HE(2) 4:5331|EP (2 4:5401|EFHE 122 4:57.09 |54 BAK(2) 4:58.38|fEE H&EQ) 4:58.75|Eh 18K(2) 4:59.26
R ESi Lo BE RE R REFEZ REFEZ
5558 7 1500m At HEA®G) 4:2549|1u0 EE(2) 4:27.39|kt FBEQ) 4:28.00( 1L RH@3) 4:2947|KF EAQ) 4:32.10|&% TR 4:35.09|1EA  ASA3) 4:36.93|1FE HEEM) 4:37.99
HEEZ HEEZ REEZ R REFE— w5 =5 REFEZ
555 2.3000m Hep 182(3) 9:3220(1luO EEE(2) 9:44.47|3Fl HEG) 9:52.37|F# EEEQ) 9:53.46 | k(2 9:56.27 |kt FRIFEQ) 10:04.47 | K%t HEA®Q) 10:06.67|ILA KFA3) 10:08.86
REEZ REEZ REEZ REER INEEZ REFEZ REFE— FR
ot B 71 1OmHO.9dm) HH X&ZEO) 17.66(+0.6)|FA A #5(3) 18.86(+0.6)|[MI# K &(3) 19.30(+0.7)|FE# #HiK(2) 19.81(+0.7)| N {B3R(2) 2021(+0.7)|H:& X£©@) 20.42(+0.7)|/E FZ=(2) 22.69(+0.6)
RE INEEZ HEE= INEEZ T HREE= INEEZ
HEFE—A 46.74|FhRA 4711 |#aBE 47.45|FFHA 47.87|85TA 48.34|/NEZ 48.44|th kB 48.92| =HA 49.70
Il R/RBQ) prm = ()] 25 0O LA #HEKRQ) & Q) A EFQ) tEaAR 1553) /IR #EZE(Q2)
BB FAXIOMR | AE TEXAQ) AR KHAB) 5B BAQ) TEE FHEG) tker EREQ) H# BIER) Bl fRZEQ) B 18EEG)
DR #1EQ) aH BEQ) oIl EEEO) XK #HERQ ik B2 R 3) E+E B BB #REQ)
LR EE)) EH REQ) #®iE THEO EHH RZE) AIE EiE3) R #ARQ2) B E2) WT FEKREQ)
wE S 1m73[84 ZERQ) 1m73| B Q) 1m70(ZEL #&EQ) 1m65|EA B2 1m65|FH REEQ) 1m55|RTEH E#E(3) 1m55|KIF BEH(2) 1m45
—— REE— 84 FR REE— INEEZ fR T [N
HH WA 1m45
&L
S L 2m40
REE=
- -+ B2 5m48(+1.8)|1E1F FEZE(2) 5m41(+0.8)| LA #hk(2) 5m30(+0.7)| A EIR(2) 5m07(+1.5)|f0AE #H#EQ) 4m75(+0.5)|fEH Hth(2) 4m69(+1.9)| AL (1) 4ma7(+0.5)|1ERE 1E(2) 4m34(+1.5)
LES =A RE BE INEEZ &I RE INE
— TEE ) 6m26(+2.0)|i% )1l FE(3) 5m85(+0.7)|E4  #A(3) 5m58(+1.4)|[M# R#(Q) 5m27(+1.5) |2 K 1#&43) 5m27(+1.5)| = FEE(3) 5m14(+1.8)|EH EEEQ) 5m06(+1.5)|#55E E(3) 4m83(+1.9)
RE REE— figiT HEE= fR RE =5 INESEZ
TEE FHK3) 12m51|FA% ToEH@) 11m23|ILE F==E3) 10m42| B R h(3) Im68 A% H3(2) 9Im58 | miE L—E@) 8ma1 [/l ffI(2) 8m35(F#kL BAE(3) Tm94
HRE 35 B FRa st 4% (5.000kg)
R REE— hR #i5 REFE— REFE— INE EiR




SE65EEH Rk Eapiiinsks [17203302)
MR & R A ERE L3R5 [203050]

rSUOBHE 2@ B
2017/05/20 HEEHE @ FIAR
BTEBUE S FIER
B EE it B8
1Ee 14 2 3 4 5 6fir 7 8fi
1 42100 AT ¢-E0)) 13.05(+0.6)| 1R B 1L&(1) 13.62(+0.6)| Rk fEK(1) 13.86(+0.6)|J1ligr T5Ee(1) 14.18(+0.7) |80 ME(1) 14.30(+0.7)|Eh (1) 14.61(+0.7)|:RET EH(1) 14.73(+0.6)|reh #3ZE(1) 14.74(+0.6)
F m
HEE— OX&#H|AE RE BE REE— R RE K[
s £ 2100 BIE FR2) 13.12(-0.3)|#2/F H3F(2) 13.18(-0.3)|i#i & FiF(2) 13.44(-0.3)| A i) 13.46(-0.3)|=1L BF(Q2) 13.51(=0.3)|J1I3% E(2) 13.59(+1.6)|¥eh BETH(2) 13.73(+1.3)|AA R BB 13.76(+1.7)
- m
K RE REE— R [N REFEZ RE [N
A F100 BER {50) 12.78(+2.4)|EA FINQ) 12.90(+2.4)|3&i0 F3L(3) 12.92(+2.4)|#BA X<>(3) 13.10(+2.40)| 1L BLM3) 13.16(+4.4)|RA HEF@) 13.33(+4.4)| Tl FEHH(3) 13.40(+2.8)|E+ =5 (3) 13.42(+2.4)
- m
RE HEE— HEEZ =5 RE [N R i1
s 4200 =R 3B@3) 26.43(+2.3)|#BA 2<5©) 27.07(+2.3)|#1L BIEHEA) 27.09(+1.5)|4EMN  FIA(3) 27.49(+1.5)|iEiD Z3(3) 27.59(+2.3) |58 FIF(2) 27.69(+2.3)|mIL B&(Q) 27.78(+1.5)| Il BLM3) 28.26(+2.3)
F7 m
RE =5 HEE— HEE— REFEZ REE— [N RE
1 24 2500 K ZEEW) 2:35.94 [+ DA 2:37.12| & BEHQ) 2:41.98|18#8 =B 2:44.12| i FHA) 2:50.18|# 4K BE®) 2:51.06|EK &=&(1) 2:5155|58 (1) 2:54.13
F m
EAC] EAC] REEZ fimiT R T 5T FR
s 57500 Bl EFQ) 2:35.04|#fh BETH(2) 2:36.72| R4 RHHQ) 2:36.78| &8 EE(2) 2:38.18|#8 HHE(Q2) 2:38.79| 1 £HQ) 2:45.89( L0 BETE(Q2) 2:46.36| B# AE(Q) 2:47.58
F m
REE— RE =5 T K[ HaRE K[ K[
44527500 NI BRK(3) 2:22.83|h#E £FEG) 2:2392|iEE BEZQ) 2:29.15[2 UVFEYQ) 2:32.40|BA EEQ) 2:33.38|FEMA %KFi(3) 2:3369(F% RA®M) 2:36.18 &R E4UQ) 2:36.75
F7 m
EAC] INEEZ EAC] INREZ INE RE REFE— i1
s 5 4271500, B W) 4:54.49[/M1] - BEIK(3) 4:5520(8R BEZR©Q) 5:06.69 (7L EF(2) 5:20.59 [FaER UMt=(3) 5:25.152 UVFEYQ) 5:26.25(F% RAQ) 5:26.43|mAK #EE®) 5:36.64
FX m
AR EAC] EAC] REE— REFE— INEEZ REFE— RE
54 7 100mH(O 762m) G FEHE) 15.18(+1.0)|f%F EZ(Q) 15.68(+1.0)|#2/R HI3F(2) 15.75(+1.0)| R $HEQ) 16.04(+1.0)| AAR FBE) 16.20(+1.0)|;&K 2=(2) 16.37(+1.0)|/ME Z(3) 17.20(+1.0) |4 % F1EQ) 17.22(+1.0)
FF m| . 'm,
LES 84 RE FR T fR =5 T
RHA 51.50| K LA 52.19|h RA 52.27|=HA 52.29| REE—PA 52.33| FEA 52.79|¥ARE 53.22|fiFTA 53.88
A KEQ) AIE PEQ) L RZER) NG Z(3) Bz EME) AAfR EEQ) st FHEQ) WE Q)
PELBBLFAXI0mMR  [HAR S5(3) F# £20) B OBEXREQ) BR 3KBE) PR FIREG) 2R #5(3) RE EFEQ) AAR FH#Q)
MR H3FQ2) Fll FEZ(2) BA tiEQ EAX FUA0) e FF2) En 3EEQ) AAR #HQ2) R EFEOQ)
A 3L3) ME BRI i FEHR) SH DBREA) L EEERG0) IREF (DHR(®1) Bl 2%&02) oE HHEG)
s e S 2H HRIEER) 1m48| B/ T (@) 1m48| T Ek(2) 1m45|iIF MEHEE(3) 1m45| LI 5K(3) 1m40| 515 ENE) 1m40| &+ EA2) 1m40| B+ LEEG) 1m30
FH =
EAC] EAC] fR =5 BE REF— &L FR
T3 BEEQ) 2m30
B R TS B
REEZ
T—— hll EZQ) 4m70(-0.1)|& EM(2) 4m43(+0.9)|FA —%(2) 4m37(+0.5)|LiF FTH(2) 4m36(+0.7)|F1E #HF(1) 4m36(+1.4)|/NR F(2) 4m26(+1.9)| L& FRE(2) 4m09(+0.2)|1BA BUTE(2) 4m06(+0.2)
+1- &
84 RE =5 fidiT fR REF— fi#T INE
I ——— # X200 4Am92(+1.4)| B HEQ) 4m88(+1.3)| =i# Fik(3) 4m46(+1.9)| KH FR#5(3) 4ma3(+2.0)|=EAR F40(3) 4m29(+2.0)|ARED EZR(3) 4m28(+0.9)| Rt F/(3) Am24(+1.1)|IiE BEEE) 4m06(+0.1)
FH B
84 EAC] figiT REE= REF— fR INEEZ &L
WA ERE) 10m47(&HE $n2) 10m42 (FisF #kp(2) 10m04|EARE (2 Im41|EHHE ZE@Q) 8m85|FE #in(2) 8mb8[2KR Z=ATE®) 8mb58(#IH HE®G) 8m46
B X FRALIR(2.721ke) N i
LES LES LES L:ES BE EiR RE REFE—
OK£#H
F5YURayF Ay L e AR-AERE  2m SR 23°C
128F ESEH AR EE BEE 1m R 29°C
1585 N AR-AE L 3m SR 28°C




